

AKINLADE OLUWANIKI ELISHA 19/MH501/072 MBBS

1. $y = 2x^2$ at $(1, 2)$ $\frac{dy}{dx} = 4x$ $\left. \frac{dy}{dx} \right|_{(x=1)} = 4$, $m = 4$ [gradient of the tangent]

Tangent passes through $(1, 2)$, $x_1 = 1$, $y_1 = 2$

$$(y - y_1) = m(x - x_1) \therefore y - 2 = 4(x - 1) \quad y = 4x - 4 + 2$$

a) $y = 4x - 2$

Gradient of the normal = $-1/\text{gradient of the tangent} = -1/4$

b) \therefore eqn of the normal $y - 2 = \frac{-x + 1}{4}$, $4y - 8 = -x + 1$, $4y + x = 9$

2. $y = 3x^2 - 2x$ at $(2, 8)$ $\frac{dy}{dx} = 6x - 2$
for tangent, $\left. \frac{dy}{dx} \right|_{(x=2)} = m = 12 - 2 = 10$

where $(x_1, y_1) = (2, 8)$, $(y - y_1) = m(x - x_1)$ $y - 8 = 10(x - 2)$

a) $\therefore y = 10x + 6$

$m_n = -1/m = -1/10$ For normal;

b) $10(y - 8) = -x + 2$; $10y + x = 82$

3. $y = \frac{x^3}{2}$ at $(-1, -0.5)$ $\frac{dy}{dx} = \frac{3x^2}{2}$ for tangent, $\left. \frac{dy}{dx} \right|_{(x=-1)} = m = 1.5(-1)^2 = 1.5$

$(x_1, y_1) = (-1, -0.5)$; $y - y_1 = m(x - x_1)$ $\therefore y + 0.5 = 1.5(x + 1)$

a) $2y = 3x + 2$

$m_n = -1/m = -1/1.5$ For normal;

$$3(y + 0.5) = -2(x + 1) \quad 3y + 1.5 = -2x - 2$$

b) $6y + 4x = -5$

4. $y = 1 + x - x^2$ at $(-2, -5)$ $\frac{dy}{dx} = -2x + 1$ for tangent, $\left. \frac{dy}{dx} \right|_{(x=-2)} = m = -2(-2) + 1 = 5$

$(x_1, y_1) = (-2, -5)$; $y - y_1 = m(x - x_1)$ $\therefore y + 5 = 5(x + 2)$

a) $y = 5x + 5$

$$\text{Gradient of the normal} = -1/\text{Gradient of the tangent} = -1/5$$

For normal;

$$5(y+5) = -x-2$$

b. $5y+x = -27$.

5. $y = x^{-2}$ at $(3, 1/3)$ $\frac{dy}{dx} = -1 \cdot x^{-2} = -\frac{1}{x^2}$

$$\left. \frac{dy}{dx} \right|_{x=3} = m = -\frac{1}{9}$$

$$(x_1, y_1) = (3, 1/3); y - y_1 = m(x - x_1)$$

$$(y - 1/3) = -\frac{1}{9}(x - 3)$$

$$9y - 3 = -x + 3$$

a. $9y = 6 - x$

$$\text{Gradient of the normal} = -1/\text{Gradient of the tangent} = 9$$

for normal;

$$y - 1/3 = 9x - 27$$

$$y = 9x - \frac{80}{3}$$

b. $3y = 27x - 80$.